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ljifo;"rL 
 

j|m=;= ljifo  k[i7 ;ª\Vof 

! g]kfnL    ! 

#= English    ( 

$= ul0ft    !& 

%= lj1fg tyf k|ljlw    @@ 

^= :jf:Yo, zf/Ll/s tyf l;h{gfTds snf   #@ 

&= ;fdflhs cWoog tyf dfgj d"No lzIff    #& 
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ljlzi6Ls/0f tflnsf 

 

sIff ^                    k"0ff{ª\s M %)      ;do M @ 3G6f 

 

s|= 
;+= 

If]q  
-k9fO / 
n]vfO_ 

 
 
k/LIf0fLo kIf 

1fg Aff]w k|of]u pRr 
bIftf 

k|Zg ;ª\Vof / cª\s ef/  
 
:ki6Ls/0f 

hDdf 
k|Zg 

pQ/ 
lbg'kg]{ 
k|Zg 
;ª\Vof 

cª\s 
ef/ 

 
!= 

 
zAbe08f/ 

zAbfy{ !    ! ! @ kf7df k|of]u ePsf s'g} rf/cf]6f zAb -df}lns #,  cfuGt's !_ lbO{ ltgsf] cy{;Fu ldNbf] zAb lbP/ vfnL 7fpF 
eg{ nufpg] 

zAb klxrfg !    ! ! @  kof{ojfrL !, ljk/LtfyL{ !, cg]sfyL{÷>'lt;dleGgfyL{ !, ;dfj]zs÷n3'tfjfrL zAb÷l;ª\uf] zAb ! kg]{ u/L 
;ª\s]tadf]lhd vfnL 7fpF eg{ nufpg] 

jfSodf k|of]u   !  ! ! @  pvfg jf 6'Ssfaf6 !, kfl/eflifs÷cg's/0ffTds / lgkft dWo]af6 ! kg]{ u/L hDdf @ lbO{ cy{ v'Ng] u/L 
jfSodf k|of]u ug{ nufpg] 

 
 
@= 

 
 
j0f{ljGof; 

 
 
z'4Ls/0f 

  !  ! ! ! o÷P, , a÷j , z÷if÷;, k~rd j0f{dWo]af6 s'g} @ cf]6f ax'j}slNks k|Zg ;f]Wg] 

  !  ! ! @ Pp6f zAbdf Pp6f dfq cz'l4 kg]{ u/L x|:j !, bL3{ ! -Osf/ / psf/_, n]Vo lrx\g !, 
kbof]u÷kbljof]u÷rGb|laGb'÷lz/laGb' ! kg]{ u/L $ cf]6f cz'l4 ePsf jfSo lbO{ z'4 kfg{ nufpg] 

 
 
#= 
 

 
 
eflifs 
;+/rgf 

 
zAbju{ klxrfg 

  !  ! ! @ gfd, ;j{gfd, ljz]if0f / lj|mofkbdWo] s'g} # / lj|mofof]uL, gfdof]uL, ;+of]hs, lj:doflbaf]ws / lgkftdWo]af6 
s'g} ! cf]6f zAb kg]{ u/L Pp6f cg'R5]b lbO{ /]vfª\lst zAbsf] ju{ klxrfg ug{ nufpg]  

sfn÷kIf / 
efj÷cy{ klxrfg 

  !  ! ! @ sfn / kIfaf6 # cf]]6f / efj÷cy{af6 ! cf]6f wft' ;ª\s]t u/L vfnL 7fpF eg{ nufpg] 

jfSo kl/jt{g   ! 
 

 ! 
 

! 
 

# 
 

sf]l6 -lnª\u, jrg, k'?if / cfb/dWo]_ af6 @,  w|'ljotf -s/0f÷cs/0f_ af6 ! u/L hDdf # cf]6f ;f]wL jfSo 
kl/jt{g ug{ nufpg] 

 
 
 
$= 

 
 
 
k7g af]w -
b[i6f+z÷ 
cb[i6f+z_ 

 
 
Jofs/l0fs af]w 
-eflifs ;+/rgf 
klxrfg_ 

  
 
! 

   
 
! 

 
 
! 

 
 
# 

uB ljwf -b[i6f+z_ kf7af6 !@% zAb;Ddsf] cg'R5]b lbO{ pSt cg'R5]baf6 lgDg k|sf/sf # k|Zg ;f]Wg] M 
-s_ uBf+zaf6 pk;u{ nfu]/ ag]sf] ! cf]6f / k|Too nfu]/ ag]sf] ! cf]6f zAb klxrfg ug{ nufpg]] . 
-v_ uBf+zaf6 låTj  zAb ! cf]6f / ;d:t zAb ! cf]6f klxrfg ug{ nufpg]] . 
-u_ uBf+zdf k|o'St s'g} jfSoaf6 s'g} Ps sf/s / ljelSt k|of]usf] zAbnfO{ /]vfª\sg u/L  tL kbsf] sf/s / 
ljelSt klxrfg ug{ nufpg] . 
 

af]w k|Zgf]Q/  !   ! ! $ uB ljwfaf6 a9Ldf !@% zAb;Ddsf] cg'R5]b -cb[i6f+z_ lbO{ Ps jf b'O{ jfSodf pQ/ cfpg] vfnsf tYok/s, 
;Gbe{af]ws, k|ltlj|mofaf]ws cflb $ cf]6f k|Zg ;f]Wg]  

%= a'Fbf l6kf]6  uB ljwf    ! ! ! $ uB ljwfsf b[i6f+z kf7af6 !)) zAb;Ddsf] uBf+z lbO{ $ cf]6f a'Fbf l6kf]6 ug{ nufpg] 

^ lgb]{lzt 
/rgf 

syf÷hLjgL, 
lr7L÷;+jfb÷ 

   ! @ ! # a'Fbfsf cfwf/df hLjgL÷syfdWo]af6 Ps / lr7L÷lgj]bg÷;+jfb÷jfbljjfbdWo]af6 Ps u/L b'O{cf]6f k|Zg ;f]wL 
s'g} Ps k|Zgsf] pQ/ n]Vg nufpg] 
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jfbljjfb÷lgj]bg 
&== efjlj:tf/ noa4-sljtf_, 

cfVofgfTds-syf_ 
k|aGwfTds÷ 
lgaGwfTds, 
hLjgLk/s kf7sf 
ljlzi6 kª\lSt 

   ! @ ! # sljtf / syf kf7dWo]af6 !, k|aGw÷lgaGw, hLjgL, Psfª\sL kf7dWo]af6 ! kg]{ u/L s'g} b'O{ ljlzi6 kª\lSt lbO{ 
s'g} Pssf] efjlj:tf/ ug{ nufpg] 

 
 
 
*= 

 
 
 
kf7ut 
af]w 
 

 
 
;Gbe{df cfwfl/t 
clt;ª\lIfKt 
pQ/fTds 
-kf7ut k7gaf]w 
clt 5f]6f]_ 

    
 
 
! 

 
 
 
@ 

 
 
 
! 

 
 
 
$ 

lgDgadf]lhd b'O{ k|Zg ;f]wL s'g} Ps k|Zgsf] pQ/ lbg nufpg] M 
-s_ kf7\ok':tssf cfVofgfTds -syf_ kf7af6 pb\w[t u/L To;sf cfwf/df ljifoj:t' n]Vg], 36gf j0f{g, d"n 
efj jf ;Gb]z, rl/q lrq0f;DaGwL jf noa4 -sljtf_ kf7af6 s'g} c+z pb\w[t u/L To;sf cfwf/df ljifoj:t' 
pNn]v, j0f{g, d"n efj jf ;Gb]z;DaGwL Ps jf b'O{ jfSodf pQ/ lbg] vfnsf clt;ª\lIfKt pQ/fTds $ k|Zg 
;f]Wg]  
-v_ kf7\ok':tssf hLjgL, lgaGw÷k|aGw, ¿ksdWo] s'g} Ps ljwfaf6 uBf+z pb\w[t u/L To;sf cfwf/df 
ljifoj:t' n]Vg], 36gf j0f{g ug]{, d"n efj jf ;Gb]z pNn]v ug]{, rl/q lrq0f;DaGwL Ps jf b'O{ jfSodf pQ/ 
lbg] vfnsf clt;ª\lIfKt pQ/fTds $ k|Zg ;f]Wg]  

tfls{s 
lzNk÷;d:of 
;dfwfg 

   ! ! ! # kf7\ok':tsleqsf kf7sf s'g} ;Gbe{ lbO{ cfkm\gf ljrf/n] k'li6 ug]{, ts{ lbg] jf s'g} ;d:of b]vfO{ ;d:of 
;dfwfg ug]{ vfnsf k|Zg ;f]Wg]  

;Gbe{df cfwfl/t 
nfdf] pQ/fTds 

   ! @ ! % kf7\ok':tsleq ;dfj]z ul/Psf -sljtf÷syf÷hLjgL÷lgaGw–k|aGw÷Psfª\sL_ kf7dWo] s'g} b'O{  
ljwfaf6 kf7ut c+z jf ;"rgf lbO{ To;sf cfwf/df ljZn]if0ffTds tyf l;h{gfTds Ifdtf k/LIf0f ug]{ 
lsl;dsf s'g} b'O{ k|Zg ;f]wL Pssf] pQ/ lbg nufpg] 

(= lgaGw 
n]vg 

cfTdk/s / 
j:t'k/s 

   ! # ! % cfTdk/saf6 ! / j:t'k/saf6 @ cf]6f kg]{ u/L s'g} tLg zLif{s lbg] / tLdWo] sg} Ps zLif{sdf !@% zAbdf 
g36fO{ lgaGw n]Vg nufpg] 

 

 

 

afx\o d"Nofª\sg 

-s_ eflifs l;k d"Nofª\sg -k9fO / n]vfO_ 

s|=;+= If]q -k9fO / n]vfO_ k/LIf0f ug]{ kIf cª\sef/ 

!= zAbe08f/ zAbfy{ / zAb klxrfg $ 

jfSodf k|of]u @ 

@= j0f{ljGof; z'4Ls/0f # 



g]kfnL -sIff–^_  3 

#=   
eflifs ;+/rgf 

zAbju{ klxrfg @ 
sfn, kIf / efj @ 
jfSo kl/jt{g # 

$= 
 

af]w -b[i6f+z_ eflifs ;+/rgf klxrfg # 
ljleGg ljwfsf uB ;fdu|L $ 

%= lgb]{lzt /rgf / :jtGq n]vg syf÷hLjgL , lr7L÷lgj]bg÷;+jfb÷ jfbljjfb_ # 
^= a'Fbf l6kf]6  uB ljwf $ 
&= efjlj:tf/ sljtf, syf, k|aGw÷lgaGw, hLjgL, Psfª\sL kf7sf ljlzi6 kª\lSt # 
 
*= 

 
kf7ut af]w 

;Gbe{df cfwfl/t ;ª\lIfKt pQ/fTds $ 
tfls{s lzNk÷;d:of ;dfwfg # 
;Gbe{df cfwfl/t nfdf] pQ/fTds % 

(= lgaGw n]vg cfTdk/s / j:t'k/s lgaGw     % 
           hDdf %) 
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gd'gf k|Zgkq 

sIff M ^        k"0ff{ª\s M %)  

ljifo M g]kfnL                                               ;do M @ 306f 

 

ljBfyL{n] pQ/ lbFbf l;h{gfTds / df}lns tl/sfn] pQ/ lbg'kg]{ 5 .  

!= lbOPsf cy{;Fu ldNg] zAb vfnL 7fpFdf n]Vg'xf];\ M  @ 

kl/j]z, ck/]6/, 5]nf]v]nf], ;Ktlif{     

-s_ kmfnfkmfn x'g] l:ylt          

-v_ w|'jtf/fnfO{ kl/j|mdf ug]{ ;ftcf]6f tf/fx¿sf] ;d"x  

-u_ d]l;g rnfpg] JolSt  

-3_ rf/}lt/sf] jftfj/0f  

@= vfnL 7fpFdf ldNbf] zAb eg'{xf];\ M  @  

-s_ …hut\Ú sf] p:t} cy{ lbg] zAb ================= xf] . -cgfy, ;+;f/, lgikIf_  

-v_ …;Tdfu{Ú sf] pN6f] cy{ lbg] zAb ================ xf] . -;'dfu{, dfu{, s'dfu{_  

-u_ …s[ltÚ sf] >'lt;dleGgfy{s zAb ================= xf] . -sLlt{, k|Llt, :jLs[lt_  

-3_ …b'wÚ sf] n3'tfjfrL zAb ===================== xf] . -rf]O6f], 6'j|mf], t'sf]{_ 

#= cy{ v'Ng] u/L jfSodf k|of]u ug'{xf];\ M  @  

>Lu0f]z ug'{, lznfn]v  

$= z'4 zAb 5fg]/ n]Vg'xf];\ M 

-c_ ;f/Ll/s  zf/Ll/s  iff/Ll/s  zfl/l/s  

-cf_ alsn  jsLn   jlsn   asLn  

%= lbOPsf] jfSonfO{ z'4 kf/L n]Vg'xf];\ M  @  

d}n] xh"/cfdfsf nflu cf}iflw lsg]/ NofP   

^= /]vfª\lst zAbx¿sf] kbju{ 5\6\ofpg'xf];\ M  @  

df]lgsf ljBfno hfFb} lyOg\ . pgn] af6fdf Hofb} 7'nf] ;k{ b]lvg\ . To;kl5 lrRofP/ eflug\ . 

;fyLx¿n] eg], æcf]xf] Û df]lgsfnfO{ s] eP5 <Æ 
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&= lbOPsf wft' / ;ª\s]tsf cfwf/df vfnL 7fpF eg'{xf];\ M  @  

-s_ k|j]z ufO{nfO{ 3fF; ============== . -lbM ck"0f{ e"tsfn_  

-v_ lj|ml:6gfn] elnan ================ . -v]n\ M k"0f{ jt{dfg sfn_  

-u_ 5]b]g csf]{ jif{ ;ft sIffdf ============= . -k9\ M ;fdfGo eljiot\ sfn _  

-3_ ltdL vfhf ====================== . -vf M cf1fy{_  

*= lbOPsf ;ª\s]tsf cfwf/df jfSo kl/jt{g ug'{xf];\ M  #  

-s_ d ;u/dfyf r9\5' . -t[tLo k'?if_  

-v_ /fwf afF;'/L ahfpFl5g\ . -k'lnª\u_  

-u_ ltdLn] /dfOnf] syf ;'gfof} . -cs/0f_  

(= lbOPsf] cg'R5]b k9L pQ/ n]Vg'xf];\ M  #  

cfhsf ;fgf ;fgf afnaflnsfn] ef]ln b]z xfFSg'k5{ . To;}sf/0f afnaflnsfnfO{ eljiosf 

s0f{wf/ eGg] ul/Psf] 5 . afnaflnsfn] JolStut dfq xf]Og ;fdflhs If]qsf sfddf klg 

rf;f] /fVg'k5{ . lgoldt ¿kdf ljBfno uP/ n]vk9 ug'{k5{ . cd"No ;do v]/ kmfNg'x'Fb}g . 

k|ultsf nflu cg'zf;g ckl/xfo{ x'G5 . ;kmn JolSt aGgsf nflu ;do tflnsf  

agfpg'k5{ . cfkm"leqsf] k|ltef lrGg ;Sg'k5{ . lg/Gt/ k|of;n] dfq dflg; cfcfkm\gf 

nIodf k'Ug ;S5g\ . xfdLn] clxNo}b]lv eljiosf af/]df ;f]Rg'k5{ .  

k|Zgx¿  

-s_ cg'R5]baf6 pk;u{ / k|Too nfu]/ ag]sf Ps Pscf]6f zAb n]Vg'xf];\ .  

-v_ cg'R5]baf6 Ps Pscf]6f låTj / ;d:t zAb n]Vg'xf];\ .  

-u_ cg'R5]bdf /]vfª\sg ul/Psf] zAbsf] sf/s / ljelSt n]Vg'xf];\ .  

!)= lbOPsf] uBf+z k9L ;f]lwPsf k|Zgsf] pQ/ n]Vg'xf];\ M  $  

of;f{u'Daf ax'pkof]uL h8La'6L xf] . of] cfwf ls/f / cfwf jgl:kltsf] k|hfltsf ¿kdf 

kfOG5 . To;}n] of;f{u'Daf k|s[ltsf] /x:odo pkxf/ dflgG5 . of] tLg xhf/b]lv kfFr xhf/ 

ld6/;Ddsf] prfOdf kfOG5 . lxdfnL If]qdf lxpF kUng] j|md;Fu} of;f{u'Daf b]lvg yfN5 . 

;'?df nfef{ ag]/ b]lvg] of;f{u'Daf Rofpsf ¿kdf ljsl;t x'G5 . o;sf] cfwf efu rflxF 

hldgd'lg jg:kltsf] h/fsf ¿kdf /xG5 . of;f{u'Daf cfo'j]{lbs cf}ifwL xf] . o;nfO{ 

/StcNktf, SofG;/, bd, /Strfk h:tf /f]usf] pkrf/sf nflu k|of]u ul/G5 . of;f{u'Dafn] 
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/f]u k|lt/f]wfTds Ifdtf;d]t a9fpF5 . of] ax'd"No h8La'6L xf] . g]kfnsf] lxdfnL e]udf 

a:g] afl;Gbfn] of:of{u'Daf ;ª\sng ug]{ u5{g\ . pgLx¿n] ;ª\sng u/]sf] of;f{u'DafnfO{ 

ljb]zL ahf/df ;d]t k'¥ofOG5 . a;]{lg of;f{u'Dafaf6 s/f]8f}F /sd lelqG5 . of] cy{tGqsf] 

dxTjk"0f{ cfwf/ xf] .  

k|Zgx¿  

-s_ of;f{u'Dafsf b'O{cf]6f ljz]iftf n]Vg'xf];\ .  

-v_ of;f{u'Daf slt prfO;Dd kfOG5 <  

-u_ ;'?df of;f{u'Daf s'g ¿kdf b]lvG5 <  

-3_ of;f{u'DafnfO{ lsg ax'pkof]uL h8La'6L dflgG5 <  

!!= lbOPsf] cg'R5]b k9L rf/cf]6f a'Fbf l6kf]6 ug'{xf];\ M   $  

g]kfnLn] kfx'gfnfO{ b]jtf dfGg] k|rng 5 . cfkm"n] ?vf];'vf] vfP klg cltlynfO{ 

ld7f]dl;gf] v'jfpg] g]kfnL rng 5 . hggL / hGde"ldnfO{ :ju{eGbf klg dxfg\ 7fGg] 

k/Dk/f 5 . ;fdflhs lxtsf nflu kf6Lkf}jf, af6f]3f6f] / k'nk'n];f agfpg] rng 5 . 

g]kfnLsf] bfg ug]{ afgL k|z+;gLo 5 . ;d'bfodf lhpFbf] 5Fbf hGtL / dbf{ dnfdL hfg] 

k|rng 5 . df?gL, afng / ;f]/7Lsf efsfdf 6'ª\gf, 8Dkm', Rofa|'ª, dfbn / d'/nLsf] 

snfTds ;+of]hg 5 .  

!@ s'g} Ps k|Zgsf] pQ/ n]Vg'xf];\ M # 

-s_ lbOPsf a'Fbfsf cfwf/df hLjgL n]Vg'xf];\ M  

gfd   M z'j|m/fh zf:qL  

hGd  M lj=;+= !(%) 

hGd:yfg  M sf7df8f}F  

lktf   M dfwj/fh hf]zL  

dftf   M /Tddfof hf]zL  

lzIff   M ;+:s[tdf zf:qL / cª\u|]hLdf :gfts  

;ª\3if{ / of]ubfg M  

 lj=;+= !((# df gful/s clwsf/ ;ldltsf] ;b:otf lnPsf  
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 Eff/tdf /xFbf dxfTdf ufGwL;Fu e]6 ePkl5 /fhgLltdf nfu]sf   

 lj=;+= !((% df /f0ff lj/f]wL ;ef cfof]hgf  

 hgtfnfO{ /f0ff zf;gsf] lj?4df nfUg cfx\jfg u/]sf  

 /f0ff zf;sn] lu/ˆtf/ u/L h]ndf xfn]sf  

 b]z / hgtfsf] enfOsf nflu d[To' /f]h]sf cd/ ;lxb 

d[To'  M lj=;+= !((& df3 !) ut]  

-v_ …ljnf;L hLjgeGbf ;fbf hLjg pRr x'G5Ú eGg] zLif{sdf ljkIfL ;fyLsf ts{sf] v08g 

 ub}{ kIfaf6 jfbljjfb n]Vg'xf];\ .  

!#= s'g} Pssf] efj lj:tf/ ug'{xf];\ M  #  

-s_ ;+:sf/ afFr]kl5 b]z afFR5 

          dg'io xfF;] kl/j]z xfF:5  

-v_ ;d:of eP ;dfwfg klg t lgl:sG5 lg .  

!$= s'g} Ps k|Zgsf] pQ/ n]Vg'xf];\ M  $  

-s_ lbOPsf] sljtfsf] c+z k9L ;f]lwPsf pQ/ n]Vg'xf];\ M 

n]s} x]?F nfnLu'/fF; a]F;L x]?F KofpnL  

kL/lt af:g] k/]jf lj/x af]Ng] GofpnL . 

lxdfn 5'G5' a]n'sL ;Ktlif{sf tfFtLn]  

    h'g]nL /ft latfpF5g\ ufpFbfufpFb} ;fyLn]  

k|Zgx¿   

-c_ s]n] lxdfn 5'G5 <  

-cf_ nfnLu'/fF; sxfF km'N5 <  

-O_ dflysf] Znf]sdf s'g s'g 7fpF ;d]l6Psf] 5 <  

-O{_ …lxdfn 5'G5 a]n'sL ;Ktlif{sf tfFtLn]Ú eGg'sf] tfTko{ s] xf] <   

-v_ lbOPsf] lgaGwsf] c+z k9L ;f]lwPsf pQ/ n]Vg'xf];\ M 

kf]v/f pkTosf / sf7df8f}F pkTosfsf] pTklQdf kfgLn] w]/} 7'nf] sfd u/]sf] x'g'k5{ . kf]v/f 

;]tL u08sLsf] pkTosf x'g'k5{ / sf7df8fFF} pkTosf oxfFsf afUdtL, lji0f'dtL cflb gbLx¿n] 
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agfPsf] pkTosf xf] . dflg;x¿ eG5g\, æsf7df8f}F vfN8f] plxn] Pp6f tfn lyof] / kl5 

oxfFsf] kfgL rf]ef/sf] uN5L sf6]/ aufOPsf] lyof] . o;/L sf7df8f}F ;x/ a;flnPsf] lyof] .Æ 

k|Zgx¿  

-c_ dflysf] cg'R5]bdf s'g s'g pkTosfsf] rrf{ ul/Psf] 5 <  

-cf_ plxn] sf7df8f}F vfN8f]df s] lyof] <  

-O_ sf7df8f}Fsf] kfgL sxfFaf6 aufOPsf] lyof] <  

-O{_ sf7df8f}Fdf s;/L a:tL a;flnof] <  

!%= …rlDsnf cg'xf/x¿Ú syfsf] zLif{s pko''St 5 jf 5}g < cfˆgf ts{ n]Vg'xf];\ . # 

!^= s'g} Ps k|Zgsf] nfdf] pQ/ n]Vg'xf];\ M  %  

-s_ …;ª\uLtsf/ cDa/ u'?ªÚ hLjgLsf] c+z k9L pQ/ n]Vg'xf];\ M  

cDa/ u'?ªn] ;ª\uLtsf dfWodaf6 b]z / hgtfsf] ;]jfdf cfkm"nfO{ ;dk{0f u/] . pgsf] :j/ 

;ª\uLt / /rgfn] g]kfnL ;ª\uLt tyf gf6\o k|1f k|lti7fgsf k|yd s'nklt;d]t eP .  

k|Zg M  

-c_ cDa/ u'?ªn] g]kfnL uLt ;ª\uLtsf] If]qdf k'¥ofPsf] of]ubfgaf/] rrf{ ug'{xf];\ .  

-v_ …dfofsf] 3/Ú syfsf] c+z k9L pQ/ n]Vg'xf];\ M  

xh'/cfdfn] gfltnfO}{ x]b}{ d':s'/fpg'eof] / …:ofaf; d]/f] gfltÚ eGb} l/Qf] lunf; lnP/ leq 

k:g'eof] . gs'n ljBfno hfg] tof/Ldf h'Qf nufpFb} lyof] . xh'/cfdf xftdf l:j6/ a'Gb} 

cfP/ gs'nnfO{ eGg'eof], æd d]/f] Kof/f] gfltnfO{ hf8f] x'G5 eg]/ l:j6/ a'Gb} 5' . v} t, of] 

l:j6/ gfkf}F . o;kflnsf] hf8f]df d]/f] gfltnfO{ gofF l:j6/, xf===xf=== .Æ 

k|Zgx¿ 

-c_ …dfofsf] 3/Ú syfdf s:tf] kfl/jfl/s jftfj/0f ;d]l6Psf] 5 < :ki6 kfg'{xf];\ .  

!&= s'g} Ps zLif{sdf !@% zAb g36fO{ lgaGw n]Vg'xf];\ M  

-s_ d]/f] b]z  

-v_ jftfj/0f ;+/If0f  

-u_ lzIffsf] dxŒj  



English (Grade-6) 9 

English 
Test Specification Chart and Model Questions for External Examination 

 (Grade 6-8) 
The final examination is based on the written test which covers reading and 
writing skills. Grammar is incorporated in writing section. The test follows the 
following test specification chart. 

Reading (25 marks) 

The assessment of reading skill follows the following structure: 
1. Reading 1: One short reading text from the textbook with one type of 

comprehension question (5 marks) 
2. Reading 2: One short reading text from the textbook with one type of 

comprehension question (5 marks) 
3. Reading 3: One short reading text not given in the textbook with one type of 

comprehension question (5 marks) 
4. Reading 4: One short reading text not given in the textbook with two types 

of questions. (10 marks) 
Note: 
 Text types for reading 3 and 4: Story, timetable, menus, charts, calendar, 

notice, letter, news stories, brochure, biography/autobiography and short 
essay). 

 The length of the text of reading 3 and 4 should not exceed 250 and 300 
words respectively. 

 Question types: 

1. True/False 

2. Fill in the gaps 

3. Multiple choice 

4. Matching 

5. Ordering 

6. Short Answer Questions 

 Text type should be different for reading 1 and 2. For example, letter in 
Reading 1 and story in Reading 2. 

 Type of texts in Reading 1 and 2 should not be repeated in Reading 3 and 4 
too. 
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 Reading 4 should at least contain three questions for testing of vocabulary. 
 The distribution of comprehension questions should be based on the 

following table: 

Type of comprehension Number of questions 

Literal comprehension 10 

Reorganization 6 

Inference 6 

Evaluation and reflection 3 
 

Writing1 (25 marks) 

The assessment of writing skill follows the following structure: 
1. Punctuation: A short and simple paragraph containing ten punctuation 

errors. (5 marks) 
2. Guided writing: One task: paragraph/ news story/ story/ description of 

tables/charts and diagrams with some guidelines (5 marks) 
3. Freewriting: One task: personal or official letter, or a short essay (10 marks) 
Grammar: 5 marks 
The grammar questions should cover the following contents: 

Grade 6 Grade 7 Grade 8 

1. Article 
2. Prepositions 
3. Tense 
4. Connectives 
5. Comparative and 

superlative 
6. Negation and 
question 
7. Common nouns 

1. Article 
2. Prepositions 
3. Tense 
4. Connectives 
5. Comparative and 

superlative 
6. Subject Verb 

agreement 
7. Negation and 

questions 
8. Reported speech 

(statements) 

1. Article 
2. Preposition 
3. Tense 
4. Connectives 
5. Question tag 
6. Reported speech 
7. Voice 
8. Conditional 
sentences 

                                                       
1 In case of writing tasks, give the tasks that are included in the course of the respective grades. 
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8. Modal verbs 
9. Used to 
10 Imperative 

9. Conditional 
sentences 

10. Modal verbs 

9. Subject-verb 
agreement 
10. Question and 
negation 
 

Types of questions: 
There will be 10 multiple choice questions (one question from each 
content) for grades 6 and 7. But, the type of questions for grade 8 will be 
as given below: 
1. Reproduction: It should cover tense, question tag, reported speech, voice, 
question and negation) (5X0.5=2.5 marks) 
2. Multiple choice (individual sentences or a contextual passage): It should 
contain article, preposition, connectives, conditional sentence and subject-verb 
agreement) (5X0.5=2.5) 
Note: 
The writing task type should not be similar to that of reading texts given in the 
reading section. 
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Model Question Set 
(Grade 6) 

Compulsory English 
(Reading and writing) 

Grade: 6   Time : 2 hrs     F. M.: 50 
Attempt all the questions.  

1. Read the text and answer the questions.    5 

In towns and cities, the use of fossil fuels (oil, coal and gas) for heating 
results in large amounts of carbon dioxide filling the atmosphere. 
Although some cities have been made smokeless zones, the exhaust 
fumes from the vehicles on the roads has meant that air pollution 
continues to be a major problem. 
Each of us is guilty of polluting our environment to some extent. Almost 
everything we buy today comes in some sort of container or packaging, 
made of plastic, glass or aluminium which we usually throw away. 
Attempts have been made to encourage factories to recycle these 
materials.  
How long can we allow this pollution to continue? Scientists tell us that 
the increased amount of carbon dioxide in the atmosphere may soon 
have disastrous effects. They fear that it will raise average temperature 
around the world and cause the polar ice caps to melt. If this happens, 
the level of the ocean will rise by four to six metres and vast populated 
areas of planet will be covered by water. Can we afford to make such 
risks by continuing to pollute our environment? 

 
a. Give examples of fossil fuels. 
b. What causes air pollution in the cities? 
c. What do people do with the plastic containers? 
d. What will be the effect of the increased carbon dioxide in the 

atmosphere? 
e. What according to the passage will happen to the vast populated 

areas? 
 

2. Read the text and complete the given sentences with the 
words/phrases from the text.      5 
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A few years ago, while I was on holiday in the Himalayas, I stopped for the 
night in a small village. It was a poor place and there was no proper hotel, 
but the owner of a restaurant offered me a bed for the night. 
“Please wait here,” he said, pointing to a table just outside his restaurant, 
“while I prepare your room.” It was a beautiful evening. The sun was setting 
behind the dark mountains and the stars were just beginning to come out. 
The villagers were lighting fires and the stars were just beginning to come 
out. The villagers were lighting fires for their evening meals and there was a 
pleasant smell of wood smoke in the air.  
Then I noticed that I was no longer alone. Someone was sitting at the table 
beside me. It was an old man with a long white beard. His clothes were dirty 
and almost in rags. 
“What do you want?” I asked. “Let me tell your fortune, sir”, he said. I 
laughed. “I don’t believe in that sort of thing,” I told him. All the same, the old 
man took hold of my hand. “I can tell you your future,” he said. I tried to take 
my hand away, but the old man held on to it, gently but very firmly. 

a. There was no good ……….. in the village. 
b. He waited at a …………. while the owner was preparing his room. 
c. The writer liked the ……….. of wood smoke. 
d. The old man was wearing dirty …………… and they were almost in 

rags. 
e. The old man wanted to tell the writer's …………. 
f. The old man continued catching the writer's hand ……… and very 

firmly. 
3. Read the text and write whether the given statements are True or 

False.          5 

Are cartoons always nice? 
The first time I took my daughter to the movie theatre she was 6 and the 
movie was "Bambi". I'm a movie lover, so I had chosen it carefully and 
thought a cartoon movie would be an effective introduction to the Seventh 
Art World. 
My point is: are cartoons really safe for kids? Or do parents need to pay 
attention to the type of cartoons kids are watching during their spare 
time? 
Once I sat on the sofa to watch a cartoon with my 8-year-old son and got 
completely dumbfounded when I realized a cartoon character was 
agonizing right in front of us, bleeding as if it was an action adult movie! 
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Everybody knows that the cartoon "The Simpsons" doesn't spread nice 
manners or behaviour, but what about the "kid stuff" they display in the 
afternoon for young children? 
The next time you take a kid to the movies may be a cartoon doesn't 
make the best choice, unless you take the time to watch it and analyze its 
content first. Or you take the risk of exposing your child to messages s/he 
isn't prepared to get yet. 

a. Bambi is a cartoon movie. 
b. There isn't violence in cartoon movies. 
c. Parents shouldn't worry about the cartoons' contents. 
d. "The Simpsons" spreads nice manners and behaviour. 
e. Before taking a child to the movies, it's important to check the movie 

content. 
4. Read the text and do the given tasks.     10 

Hi Nishu 
 
I'm really sorry but don't have time to visit you so I'm writing this email 
instead. Last night, I went to the cinema and saw a great film. You can 
also read the book – and I heard on the radio that it's true story. It's about 
a family with three children, two boys and a girl, who lived in a village in 
India. The children went to school there and had lots of friends. When the 
children grew up, they started thinking about moving abroad. The sister 
went to France to become a teacher. The older brother went to America 
to open a restaurant, only the younger brother stayed in their home 
country and worked on his father's farm. 
When they grew up, they all got married and had lots of children. The film 
shows us the good and sad times the three families had and how the 
brothers and sister didn't see each other for ages. The children, who were 
cousins never met when they were little. Many years later, when the sister 
became a grandmother, she decided to see her brothers again and meet 
their wives and children, so she invited them all to her big house in 
France. 
I'm not going to tell you what happens in the end because I want you to 
see it yourself. I also have the book, I'm reading it now, but I think the film 
is better. I would like to see it again so you can come with me and my 
sister on Saturday. I'm sure you will love it when you see it. It's a little bit 
sad, but not all the time. Sometimes I laughed and sometimes I cried, but 
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I can't say the film is funny or sad. 
I hope to see you next week. 
 
Love 
Gita 

A. Find the words/phrases from the text for these meanings.  
                                                                                                (5 X 1 = 5) 
a. messages distributed by electronic means 
b. began 
c. out of the country 
d. finally 
e. causing laughter, humorous 

B. Answer the following questions.            (5 X 1 = 5) 
a. What did Gita do yesterday? 
b. What is the story of the film about? 
c. Who doesn't leave the country? 
d. Who arranged the visit to France? 
e. Why isn't Gita telling Nishu the ending of the story? 

5. Punctuate the following text.        (10 X 0.5 = 5) 
“yes,” she replied. “i threw a stone at the mango tree.”  They asked her Did 
you throw any stone at the king the woman didnt answer but turned pale the 
woman was arrested and presented before the king 

6.  Write a description of one of your friends. Write 100-150 words. 
Include information about the following.    5 
a. Your friend's name, age nationality, job etc. 
b. Your friend's physical appearance 
c. Your friend's personality 
d. Your friend's hobbies 

7. Imagine that you were ill and visited a doctor yesterday. The 
doctor has advised you to take a rest for at least a week. Write an 
application letter to your class teacher for a one-week-leave.  10 

8. Choose the best answer to complete the sentences and rewrite 
them.   

(10 X 0.5 = 5) 
a. Look! There is …… owl on the window pane. (a/an/the) 
b. I come from Darchula. Where are you  ………….. ? (in/at/from) 
c. My father always …….. early in the morning. (wakes up/woke up/is 

weaking up) 
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d. Nitu likes dancing ………… she doesn't like singing. 
(and/but/because) 

e. My sister is 15 years old and I am 12. I am ……… than her. 
(young/younger/ youngest) 

f. ……… from me? (What you want/What do you want/What do want) 
g. '………..' is a common noun. (Kathmandu/Nitesh/Girl) 
h. ……… you give me your pen? (Can/May/Must) 
i. I ……….. marble when I was young but now I don't. (played/was 

playing/used to play) 
j. …………….. the door! It's cold in here. (Close/ Closed/Closing) 

… 
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ljlzli6s/0f tflnsf 
sIff ^–* 

@)&* 

ljifo M ul0ft               
k"0ff{ª\s M %)             ;do M @ 3G6f 
S.N
. 

Areas Total 
workin
g hours 

Knowledge  Understanding  Application  Higher ability  Total 
numbe
r of 
items 

Total 
number 
of 
question
s 

Total 
Mark
s Numbe

r of 
items 

Mark
s 

Numbe
r of 
items 

Mark
s 

Numbe
r of 
items 

Mark
s 

Numbe
r of 
items 

Mark
s 

1. Sets 10 
1 1 1 1 2 3 1 1 5 2 

3 
2. Statistics 10 3 
3. Arithmetic 45 2 2 3 4 3 5 2 3 10 3 14  
4. Mensuratio

n 
15 1 1 1 1 1 2 1 1 4 1 5 

5. Algebra 30 2 2 1 2 2 4 1 2 6 3 10  
6. Geometry 50 2 2 2 4 2 6 2 3 8 3 15  
  160 8 8 8 12 10 20 7 10 33 12 50 
 

b|i6Jo M  

 k|Zgkq lgdf{0f ubf{ k|To]s If]qdf / ;du|df 1fg, af]w, k|of]u / pRr bIftfsf nflu tf]lsPcg';f/sf ef/ ldn]sf] x'g'kb{5 . t/ 
;+1fgfTds txdf @ cª\s;Dd 36a9 x'g ;Sg] 5 .  

 ;Gbe{ lbP/ k|Zg lgdf{0f ug'{kg]{ 5 . k|To]s k|Zgdf PseGbf a9L ;+1fgfTds txsf pkk|Zg ;dfj]z ug{ ;lsg] 5 .  

 Application / higher ability txsf k|Zg lgdf{0f ubf{ ;DalGwt If]qsf cnfjf cGo If]qsf ljifoj:t';Fu ;DalGwt k|Zg klg 
/xg ;Sg] 5g\ .  

 x/]s If]qcGtu{t /x]sf ;a} pkIf]qsf ljifoj:t' ;dfg'kflts ¿kdf ;dfj]z x'g] u/L k|Zg lgdf{0f ug'{kg]{ 5 .  
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gd'gf k|Zgkq (Model questions) 

sIff M 6          k"0ff{ª\s M 50 

ljifo M ul0ft          ;do M 2 306f 

;a} k|Zgx¿ clgjfo{ 5g\ . (All the questions are compulsory.) 

 

1. lbOPsf ;ª\Vofx¿sf] ;ª\sngnfO{ cjnf]sg u/L lgDg lnlvt k|Zgx¿sf] pQ/ lbg'xf];\M 
Answer the following questions based on the given collected numbers: 

2,3,5,7,11,13,17,19  

s_ dfly lbOPsf] ;ª\Vofx¿sf] ;ª\sng /fd|f];Fu kl/eflift ;ª\sng xf] jf xf]Og < sf/0f;lxt n]Vg'xf];\ .  

State whether the given collection of numbers is well-defined or not? Write with reason.  1  
-v_ pSt ;ª\sngnfO{ ;d"x ;ª\s]tdf n]Vg'xf];\ .         

Write the presented collection of numbers in set notation.      1  
-u_ pSt ;d"xnfO{ ;d"x lgdf{0f ljlwaf6 n]Vg'xf];\ .        

Write the given set in a set-builder method.        1  

2. -s_ lbOPsf ;ª\Vofx¿n] lgMz]if efu hfg] ;a}eGbf ;fgf] ;ª\VofnfO{ tL ;ª\Vofx¿sf] =================elgG5 . 
The smallest number which is exactly divisible by the given numbers is called.......  1 

-v_ sIff 6 sf ljBfyL{x¿nfO{ nx/ / kª\lStdf 9/9 hgfsf b/n] a/fa/ x'g] u/L sjfh v]nfpg v]ns'b 
lzIfsn] nfOgdf ldnfpg vf]Hbf 3 hgf ljBfyL{ a9L eP5g\ eg] hDdf slt ljBfyL{ /x]5g\, kQf nufpg'xf];\ . 
The drill teacher tried to arrange grade six students in equal rows and columns with 9/9 students, but the 

number of students exceeded by 3. Now find out the total number of students in the class.    2   

-u_ cg'n] 40 ?lkofF kg]{ 5 cf]6f sfkL / 25 ?lkofF kg]{ 2 cf]6f snd lsg]/ k;n]nfO{ ?= 500 sf] gf]6 lbOg eg] 
pgn] slt ?lkofF lkmtf{ kfpFl5g\ <        

Anu paid a sum of Rs. 500 to a shopkeeper for buying five exercise books at the rate of Rs 40 and two 

pens at the rate of Rs 25. How much will she receive in return?     2  

3. ;'dg Pp6f lghL sDkgLdf n]vfkfnsf] kbdf sfo{/t l5g\ .  
Suman is enrolled in a private company as an accountant: 

-s_ pgLn] cfk\mgf] tnasf] 
�

�
 efu vfgfdf / 

�

�
 efu 5f]/f5f]/Lsf] lzIffdf vr{ ul5{g\ eg] s'g zLif{sdf a9L vr{ 

x'g] /x]5, kQf nufpg'xf];\ .         

If she invests 
�

�
 of her income in food and  

�

�
  part of income in children's education, find out on which 

heading more money is invested?         2  

-v_ olb pgsf] dfl;s tna ?= 20,000 5 eg] 5f]/f 5f]/Lsf lzIffdf slt ?lkofF vr{ x'g] /x]5, kQf nufpg'xf];\\ 
.            

If her monthly income is Rs.20,000, find the total money spent on her children's education.  1 

-u_ pgsf] lzIffdf x'g] dfl;s vr{nfO{ bzdnjsf] b'O{ :yfg;Dd z"GofGt u/]/ n]Vg'xf];\ .   

Write the monthly expenditure done on children's education in two places of decimal.   1  
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4. ;'l:dtfn] cfk\mgf 5f]/f 5f]/Lsf nflu :6];g/L k;naf6 10 cf]6f sndnfO{ hDdf ?= 1200 df lslg5g\ . 
Sushmita has bought 10 pens for her children from stationery costing Rs. 1200 

-s_ Pp6f sndsf] d"No slt k/]sf] /x]5 <        

What was the cost of one pen?         1 

-v_ 10 cf]6f snd a]Rbf k;n]nfO{ hDdf ?=100 gfkmf eP5 eg] k;n]n] Pp6f snd sltdf lsg]sf] /x]5 <  

If a shopkeeper made a profit of Rs100 by selling 10 pens, how much had the shopkeeper paid for buying 

one pen?            1 

-u_ ;'l:dtfn] lsg]sf 10 cf]6f snddWo] 5f]/LnfO{ 6 cf]6f snd lbOg\ eg] 5f]/f / 5f]/LnfO{ slt slt k|ltzt 
snd lbPsL /lx5g\, kQf nufpg'xf];\ .         

If Sushmita gave 6 pen out of 10 pens to her daughter, what would be the percentage allocated to her son 

and daughter?           2 

-3_ olb 5f]/LnfO{ 50% snd lbPsf] eP 5f]/Ln] klxn]eGbf sltcf]6f snd sd jf a9L k|fKt ub{l5g\ <  
If 50% of the total pen had been given to a daughter, how many more pen would she get?  1  

5. /ldnfsf] hUuf juf{sf/ / Zofdsf] hUuf cfotfsf/ 5 t/ b'j} hUufsf] If]qkmn a/fa/ 5 .  
Ramila has a square land, and Shyam has rectangular land, but the area of both lands is equal 
a-s_ olb /ldnfsf] hUufsf] If]qkmn 2500 m

2 5 eg] o;sf] nDafO slt xf]nf <    

If the area of Ramila's land is 2500 m
2
, find the land's length.     2 

-v_ olb Zofdsf] hUufsf] nDafO /ldnfsf] hUufsf] nDafOsf] bf]Aa/ 5 eg] Zofdsf] hUufsf] nDafO slt xf]nf 
<          

If the length of Shyam's land is double of Ramila's land, then find the length of Shyam's land.     1 

-u_ Zofdsf] hUufsf] rf}8fO slt x'G5 xf]nf <       

What will be the width of Shyam's land?            1 

 

-3_ b'j}n] cfk\mgf] hUufsf] jl/kl/ Ps k6s dfq sfF8]tf/n] 3]g{ rfxG5g\ eg] s;nfO{ a9L vr{ nfU5 <  
Who needs to spend more on fencing if both of them have to fence a wire for a round the land once.  

             1  

6. z}lIfs jif{ 2078 df hgtf dfWolds ljBfnosf] sIff 6 b]lv 10 ;Dd egf{ ePsf ljBfyL{]x¿sf] ;ª\Vof tn 
tflnsfdf lbOPsf] 5 .  

The enrolled students from classes 6 to 10 in Janta Secondary School in the academic year 2078 is given 

below: 

sIff (Grade) 6 7 8 9 10 
ljBfyL{ ;ª\Vof  

(No. of students) 
80 60 100 90 70 

-s_ tflnsfsf cfwf/df u|fkmk]k/df :tDe lrq tof/ ug'{xf];\ .       

Draw a bar diagram on a graph paper based on above table.     2  

-v_ hgtf dfWolds ljBfnodf z}lIfs jif{ 2078 df sIff 6 b]lv 10 ;Dd hDdf slt hgf ljBfyL{x¿ egf{ 
ePsf /x]5g\ <           

What is the total number of students enrolled in the academic year 2078 in Janta Secondary School from 

classes 6 to 10?          1  
7. -s_ tnsf] ul0ftLo egfO ;xL eP l7s / unt eP a]l7s n]Vg'xf];\ . 
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       State whether the given mathematical statement is true or false: 

       4x
2
y / 7x

2
yz ;hftLo kbx¿ x'g\ . 4x

2
y and 7x

2
yz are like terms.           1  

-v_ vfnL 7fpF eg'{xf];\ M Fill in the blanks. 
x sf] dfg 5 eGbf ;fgf] 5 eg]/ hgfpg............... n]lvG5 .             
The value of x is less than 5 is to represent as.......       1  

-u_ Pp6f afs;df 6 kf]sf rsn]6 5g\ . bf];|f] afs;df 8 kf]sf rsn]6 5g\ . olb k|To]s kf]sfdf x cf]6f rsn]6 
eP b'j} afs;df u/L hDDff sltcf]6f rsn]6 /x]5g\ <    

The first box contains 6 packets of chocolate; the second box contains 8 packets of chocolate. If each packet 

contains x number of chocolate, find the total number of chocolate in both boxes.  2  

8. -s_ Pp6f cfotfsf/ ?dfnsf] If]qkmn 12x
2
y

2 ju{ ;]lG6ld6/ / rf}8fO 3xy ;]lG6ld6/ ePdf pSt ?dfnsf] 
nDafO slt xf]nf, kQf nufpg'xf];\ .  

A rectangular handkerchief has an area of 12x
2
y

2
 square centimeter and breadth is 3xy centimeter then what 

is its length? Find it.          2  

-v_ olb x = 2 / y = 3 ePdf pSt ?dfnsf] nDafO / If]qkmn slt slt xf]nf, kQf nufpg'xf];\ .   
If x = 2 and y = 3, what is the length and area of the handkerchief ? Find it.    2 

9. ljb'/;Fu eGbf ljsf;;Fu 8 ?lkofF sd 5 . olb b'j};Fu u/L hDdf 32 ?lkofF /x]5 eg] k|To]s;Fu slt slt ?lkofF 
/x]5, kQf nufpg'xf];\ .          

Bikash has Rs. 8 less than Bidur. If both of them have altogether Rs. 32. How many rupees each of them 

have? Find it.           2  

10. s_ s'g} klg 3g jf if8\d'vfsf] s'gfnfO{ V, lsgf/fnfO{ E / ;txnfO{ F dfGbf ltgLx¿ larsf] ;DaGw tnsf 
dWo] s'g x'G5, n]Vg'xf];\ .         

The vertices of a cube or cuboid is suppposed to be V, side is E and surface is F, then which of the 

following is the relation between them? Write it.       1  

-c_ V+E + F = 2      -cf_ V — E + F = 2    

-O_ V ++ E — F = 2      -O{_ V — E — F = 2 
-v_ vfnL 7fpF eg'{xf];\ M (Fill in the blanks.) 
j[Qsf] kl/lwsf] s'g} b'O{ laGb' hf]8\g] /]vf v08nfO{ ========================== elgG5 .     

The line joining the two points on  the circumference of the circle is called......    1  

-u_ ?n/sf] k|of]u u/L 8 cm sf] /]vfv08 XY lvRg'xf];\ . sDkf;sf] k|of]u u/L laGb' X df ∠ PXY = 90° sf] 

sf]0fsf] /rgf ug'{'xf];\ .          

By using ruler, draw a line segment XY = 8 cm. By using compass construct ∠ PXY = 90°  at X.    3  

-3_ laGb'x¿ P, X / Y hf]8\bf aGg] lqe'h s:tf] lqe'h aG5, sf/0f lbg'xf]\;\ .    

What type of triangle is formed by joining the points P, X and Y? Give reason.    1 
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11.-s_ lbOPsf] lrqdf AB / CD larsf] ;DaGw tyf AB / AE larsf] ;DaGw n]Vg'xf];\ .   

In the given figure, write the relation between AB and CD as well as AB and AE.   2  

 

 

 

 

 

-v_ lbOPsf] lqe'hsf sf]0fx¿ rfFbsf] k|of]u u/L gfKg'xf];\ . sf]0fsf cfwf/df lbOPsf] lqe'h s:Tff] k|sf/sf] xf], n]Vg'xf]];\ 
.            

By using a protractor, measure the angles of the given triangle. On the basis of angles what type of triangles 

   2  is this? Write it.  

 

  

 

 

 

 

12. -s_ lbOPsf A(0,3), B(3,0), C(0,—3) / D (—3,0) laGb'x¿sf lgb]{zfª\sx¿ u|fkmk]k/df cª\sg ug'{xf];\ . oL laGb'x¿ 
j|mdzM hf]8\bf aGg] lrqsf] gfd n]Vg'xf];\ / If]qkmn klg kQf nufpg'xf];\ .  

Plot the coordinates of the given points A(0,3), B(3,0), C(0,—3) and D (—3,0)in a graph paper. Join the points in 

order  and write the name of figure so formed. Also find its area.    3  

-v_ Pp6} gfksf juf{sf/ cfs[ltx¿sf] k|of]u u/L 6];]n];g tof/ ug'{xf];\ / /ª eg'{xf];\ .  

By using same measures of square shapes prepare tessellation and fill up the colour.   2  

 

⁎⁎⁎⁎⁎⁎ 

A 

B C 

C 

A 

E 

B 

D 
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gf]6 M  
 k|Zg lgdf{0f ubf{ tNnf] txsf k|Zg -1fg, af]w / k|of]u_ tyf pRr txsf k|Zg -ljZn]if0f, 

d"Nofª\sg / l;h{gf_ nfO{ dfly plNNflvt sfo{306f / cª\sef/ cg';f/ agfpg'kg]{ 5 .  
 ax'j}slNks k|Zg / clt 5f]6f] k|Zg ! cª\s, 5f]6f] k|Zg @ cª\s / nfdf] k|Zg $ cª\ssf 

b/n] ;f]Wg'kg]{ 5 . 
 ;d"xsf] hDdf cª\sef/df 36a9 ug{ kfOg] 5}g t/ ;d"xleqsf PsfOdf ±@ x''g ;Sg] u/L 

k|Zg agfpg ;lsg] 5 . t/ s'g} PsfOnfO{ z"Go ug{ kfOg] 5}g .  
 @ jf $ cª\ssf k|Zgsf nflu Ps k|Zgsf] Ps pQ/ -1 mark will be assigned per 

element expected as correct response) cfpg] u/L k|Zg lgdf{0f ug'{kg]{ 5 . 
 5f]6f] / nfdf] k|Zg Pp6} txsf] jf b'O{ jf PseGbf a9L ;+1fgfTds If]qcGtu{tsf txx¿ 

;d]6\g] u/L k|Zg agfpg klg ;lsg] 5 . t/ ;du|df plNnlvt txsf] hDdf ef/;Fu ldNg] 
x'g'k5{ . 

 

gd'gf k|Zgkq 

sIff M ^        ljifo M lj1fg tyf k|ljlw 

k"0ff{ª\s M %)        ;do M @ 306f  

tnsf ;a} k|Zg clgjfo{ 5g\ . (All the questions are compulsory) 

v08 s (Section -A)M j:t'ut k|Zg (Objective Questions)            !)  ! = !) 

tnsf k|Zgsf] l7s ljsNkdf uf]nf] lrx\g (o) nufpg'xf];\ .  

Circle the best alternative of the following questions.   
1. cfotgsf] P; cfO{ PsfO s'g xf] < Which is the SI unit of Volume?  

(A) ln6/ Liter    (B) ldlnln6/ Milliliter  
(C) ld6/ Meter    (D) 3gld6/ Cubic meter   

2. dxŒjk"0f{ 8f6fnfO{ OG6/g]6sf] ;xfotfn] hg;'s} sDKo'6/af6 k|fKt ug{ s'g e08f/g ;]jf jf 
pks/0fsf] k|of]u ug{ ;lsG5 < (Which of the following storage services or devices is 
used to access important documents online on any computer ?)   
(A) xf8{ l8:s (Hard disk)                     (B)  u'un 8«fO{e (Google drive) 
(C) k]g 8«fO{e  (Pen drive)                     (D)  l;8L jf l8lel8 8«fO{e (CD or 
DVD drive) 
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3. lrqdf  b'O{cf]6f la?jfx¿ b]vfOPsf] 5 . la?jf M sf] sfF8]bf/ kft / nfdf h/f 5g\ . la?jf 
N sf] sd ljsl;t h/f / dl;gf kftx¿ 5g\ . b'j} la?jfsf] z/L/ d}g h:tf] kbfy{n] 9fs]sf] 
5 . Two plants are shown in the pictures. The plant M has thorny leaves and long 
roots. Plant N has poor root and thin leaves. Both plant body is covered with wax.   

 
tnsf dWo] s'g egfO ;xL 5 < Which of the following statement is correct ?       

(A) la?jf M sf] d}gn] o;nfO{ s'lxgaf6 arfpF5 eg] la?jf N sf] d}gn] o;sf] z/L/af6 
kfgL u'dfpgaf6 arfpF5 . . Wax of plant M protects it from decaying where as 
wax of plant N prevent loss of water from its body. 

(B) la?jf M / N sf] d}gn] logLx¿sf] z/L/af6 kfgL u'dfpg lbFb}g . Wax of plant M 
and N prevents loss of water from its body. 

(C) la?jf M sf] d}gn] z/L/af6 kfgL u'dfpg lbFb}g eg] la?jf N sf] d}gn] o;nfO{ 
s'lxgaf6 hf]ufpF5 . Wax of M prevent loss of water from its body where as wax 
of N protects it from decaying. 

(D) la?jf M / N sf] d}gn] logLx¿sf] z/L/af6 kfgL u'dfpg]] b/ a9fpF5 . Wax of plant 
M and N increase the rate of loss of water from its body. 

4. tnsf dWo] s'g rfFlx h}ljs cjoj xf] < Which of the following is a biotic factor?      
(A)  xfjf Air 
(B)  kfgL Water 
(C)  df6f] Soil 
(D)  ;"IdhLj Microorganisms 

5. h'sfnfO{ lsg k/hLjL elgG5 < Why is leech called parasite?  
(A)  of] lr;f] 7fFpdf kfOG5 . It is found in moist place. 
(B)  o;n] d]?b08 ePsf hgfj/sf] /ut r':5 . It sucks blood from vertebrates. 
(C)  o;sf] z/L/ cf]l;nf] / lrKnf] x'G5 . Its body is slimy and slippery. 
(D)  o;sf] z/L/ v08 v08 k/]sf] x'G5 . It has segmented body. 

M N 
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6.  /ldnfn] bz}+df hd/f /fVbf b'O{cf]6f efF8fdf df6f] xfnL lap 5/]/ efF8f] (A) nfO{ cFWof/f] 
sf]7fdf /flvg\ . efF8f] (B) nfO{ k|sfz kg]{ 7fFpdf /flvg\ . b'j} efF8f]df a/fa/ dnhn ul/g\ . 
b'j} efF8fsf] hd/fsf] cjnf]sgsf] glthf o;k|sf/ 5 .  While growing Jamara during 
dashain, Ramila put soil in two pots and spread seeds on them and put pot A in 
dark room and pot B on lighted place. The result observed is as follow:  
efF8f] (Container) hd/fsf] j[l¢ (Growth of Jamara) hd/fsf] /ª ( color of Jamara) 

A xnSs a9]sf] ( good growth) kxF]nf] (yellow) 
B xnSs a9]sf] ( good growth) xl/of] (green) 
tkfO{Fn] lj1fg ljifoaf6 k|fKt 1fgsf] k|of]u u/L kxF]nf] hd/fnfO{ ;fdfGo la?jf h:t} agfpg 
ca o;nfO{ s;/L x'sf{pg' x'G5 < How would you grow further yellow colour jamara 
to make it like other common plant by using the knowledge you gained from 
science subject? 
(A) 3fd nfUg] 7fFpdf /fV5' / cfjZos hn dn lbG5' . I will put it in sunlight and 

provide necessary water and fertilizer. 
(B) o;df lbgx'F kfgL xfN5' .  I will pour water to it  every day. 
(C) xfjf nfUg] cFWof/f] 7fpFdf /fV5' . I will put it in aerated dark place. 

  (D)  o;nfO Knfl:6sn] 5f]k]/ /fV5' . I will cover it with plastic. 

7. ;/f}tf]n] ;'s]sf] ;'kf8Lsf] 8Nnf]nfO{ ;s];Dd sd 
an nufP/ sf6\g tn lbOPsf dWo] s'g tl/sf 
ckgfpg' x'G5 < Which of the methods given 
below would you choose to cut arica nuts while 
applying minimum efforts? 

-A_  ;/f}tf]sf] cufl8sf] efudf ;''kf8L /fVg'k5{ . Arica nut should be kept at the front 
side of the nutcraker.                    

-B_  ;/f}tf]sf] lar efu ;'kf8L /fVg'k5{ . Arica nut should be kept in the centre of the 
nutcraker. 

-C_  ;/f}tf]sf] k5fl8sf] efudf ;'kf8L /fVg'k5{ . Arica nut should be kept at the back of 
the nutcraker. 

-D_  ;/f}tf]df hxfF;'s} 7fpFdf ;'kf8L /fVbf lg ;dfg an nufpg'k5{ . Equal effort should 
be applied regardless of the position of the arica nut. 

 
8. pkof]usf cfwf/df tnsf /;fogsf] ldNbf] ;d"x s'g xf] . Based on the application, select 

the correct grouping of chemicals.  
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A. ;fa'g, l86/h]G6, :6]g l/d'e/, PlG6;]lK6s Soap, Detergent, Stain Remover, 
Antiseptic 

B. vfg] ;f]8f, 6'yk]:6, leg]u/, sk'/ Baking Soda, Toothpaste, Vinegar, Camphor 
C. ;'j|mf]h, ;f]l8od Snf]/fO8, km]gf]n, k]6«f]n Sucrose, Sodium Chloride, Phenol, Petrol 
D. g]n kln;, dl6t]n, cf]lne cf]On,l3p Nail polish, Kerosene, Olive Oil, Ghee  

9. tnsf dWo] s'g egfO l7s 5 < Which of the following is a correct statement ?  

A. ;fa'gsf] h}ljs ljR5]bg x'G5 . Soap is bio-degradable. 

B. l86/h]G6sf] h}ljs ljR5]bg x'G5 . Detergent is bio-degradable. 

C. ;fa'g / l86/h]G6sf] h}ljs ljR5]bg x'G5 . Soap and Detergent, both are bio-

degradable. 

D. ;fa'g / l86/h]G6sf] h}ljs ljR5]bg x'Fb}g . Soap and Detergent, both are non bio-

degradable. 

10. Pp6f ld>0fdf A, B / C cjojx¿ 5g\ . cjoj A 3gTj w]/} ePsf], c3'ngzLn / 

cr'DasLo j:t' xf] . cjoj B sf] 3gTj yf]/}, c3'ngzLn / cr'DasLo u'0f 5 . cjoj C 

rflxF kmnfdsf] w'nf] xf] eg] o; ld>0fnfO{ 5'6\ofpg] r/0fx¿ tnsf dWo] s'g ;xL xf]nf < A 

mixture has three components A, B and C. Component A has high density, 

insoluble and non-magnetic. Component B has low density, insoluble and non-

magnetic. Component C is Iron fillings. Which one of following is the correct 

steps of separation of this mixture.  

A. ld>0fnfO{ kfgLdf 3f]Ng] clg cf;jfg lj|mof ug]{ . Dissolve the mixture in water 

followed by distillation. 

B. ld>0fnfO{ kfgLdf 3f]Ng] clg ;]lG6«ˆo'lhª ug]{ . Dissolve the mixture in water 

followed by centrifuging. 

C. ld>0fnfO{ r'Dasn] tfGg] clg cf;jfg lj|mof ug]{ . Attract the mixture by a magnet 

followed by distillation. 

D. ld>0fnfO{ r'Dasn] tfGg] clg ;]lG6«ˆo'lhª ug]{ . Attract the mixture by a magnet 

followed by centrifuging. 
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v08 v (Section -B)M clt 5f]6f k|Zg (Very short questions)               *  ! = * 

tnsf clt 5f]6f k|Zgsf] pQ/ n]Vg'xf];\ . (Write very short answer to the following 

questions)        

1. j8{ k|f];];/ ;ˆ6j]o/sf] Pp6f sfo{ n]Vg'xf];\ .   
Write down any one function of the word processor.  

2. xnf] / 6«ofS6/n] Pp6} k|sf/sf sfo{ -hf]Tg]_ ub{5g\ .  xnf] x'Fbf x'Fb} 6«ofS6/sf] ljsf; lsg 
eof] < 

   Plough and tractor perform similar function of ploughing the field. Why is tractor 
invented even though we already have the plough? (U) 

3. s:tf hLjnfO{ :jkf]ifs elgG5 <What type of organism is called autotroph ?  
4.  bfofF lrqdf sf7sf] nfdf] 8G8L -pQf]ns_ sf] ;xfotfn] Pp6f 

9'ª\ufnfO{ prfNg vf]lh/x]sf] 5 . oxL 9'ª\uf]nfO{ prfNgsf nflu 
tkfO{FnfO{ tLgcf]6f pQf]ns M lrqdf b]vfPsf] hq}, Tof]eGbf 
nfdf] / lrqdf b]vfPsf] eGbf 5f]6f] pQf]ns lbOPsf] /x]5 eg] 
tkfO{F s'grflxF pQf]ns k|of]u ug'{x'G5 < sf/0f lbg'xf];\ .   
In the given figure, a lever is used to lift the stone. If 
you are given three levers; the first one like in the figure, another shorter than that 
and third one is longer than the one in the figure. Which one would you prefer to 
use? Give reasons.   

5. bfofF lrqdf b'O{ leGg tl/sfn] ;fdfg nf]8 ul//x]sf] 

b]lvG5 . lrqdf b]vfP h:t} ;fdfgnfO{ ;lhn} 

uf8Ldf nf]8 ug{sf nflu tkfO{F  A / B dWo] s'g 

tl/sf 5gf]6 ug'{x'G5, lsg <  

  In the given figure, we can see two different 

methods used to load goods on the vehicle. Which methods would you prefer to 

load goods on the vehicle easily?  
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6. ;l/tfsf] sf]7fdf dfq /ftL lah'nL an]g . pgn] s] eP5 

eg]/ x]b}{ hfFbf pgsf] sf]7fsf] MCB -lrqdf h:t}_ v;]sf] 

b]v]/ dfly p7fOg\ t/ km]l/ t'?Gt} pgsf] sf]7fsf] MCB 

v:of] . pSt ;d:of ;dfwfg ug{ s] ug'{knf{ <  

Light cut off at night in Sarita's room. While 

looking for its reasons, she found that the MCB of 

her room had gone down and she raised it up but when she raised up the MCB, it 

immidiately went down again. What should be done to solve this problem?  

7. k[YjLdf hLjsf] cl:tTj ;Dej x'g'sf] s'g} Ps sf/0f n]Vg'xf];\ .  

    Write a reason for the existence of animals on the earth.  

8. wft'x¿ dn]an / tfksf] ;'rfns x'G5g\ . oL u'0fx¿sf cfwf/df wft'sf] Pp6f pkof]lutf 

n]Vg'xf];\ . 

    Metals are malleable and good conductors of heat, write down one application of 

metal based on these properties.  

v08 u (Section -C)M 5f]6f k|Zg (Short questions)                *  @ = !^ 

tnsf 5f]6f k|Zgsf] pQ/ n]Vg'xf];\ . (Write answer of the following short questions)        

9. j}1flgs l;sfO k|lj|mofdf ;+nUg x'g] ljBfyL{ lsg Psbd} lh1f;' :jefjsf] x'g'k5{ <   

Why should the students participating in scientific learing processes need to be 

inquisitive?  

10. xfdLn] cfhef]ln k|of]u ug]{ cfw'lgs k|ljlwsf pks/0f :yfgLo k|ljlws} ;'wfl/Psf] jf 

kl/is[t :j¿k x'g\ . o; egfOnfO{ s'g} b'O{ pbfx/0f;lxt k|:6 kfg'{xf];\ .  -@_  

    "Modern devices that we use nowadays are improved and modified form of local 

technology." Justify this statement with two examples.  

11. rd]/f] / k/]jflar s'g} b'O{cf]6f leGgtf n]Vg'xf]; . Write any two differences between a 

bat and a pigeon.  
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12. /];dn] cfˆgf] s/];faf/Ldf Pp6f gofF la?jf e]6] . pgn] Tof] la?jfsf] ;d"x 5'6\ofpg rfx]sf 

5g\ . pSt sfo{ k"0f{¿kdf ug{sf nflu pgnfO{ b'O{cf]6f ;'emfj lbg'xf];\ . Resham found a 

new plant in his kitchen garden. He wants to find out the group of that plant. Give 

him two suggestions to perfom that task perfectly.  
13. 5fof aGgsf] nflu cfjZos kg]{ b'O{ cf]6f cj:yfx? n]Vg'xf];\ .  

   Write any two conditons required for the formation of shadow.  

14. v'Nnf ljB't kl/ky / aGb ljB't kl/kysf s'g} b'O{cf]6f leGgtf n]Vg'xf];\ .  

   Write any two differences between open and closed electrical circuit. 

15. Pp6f kftnf] kmnfdsf] kftf jf l:6nsf] An]8nfO{ s;/L r'Das 

agfpg ;lsG5 < pSt ljlwaf6 r'Das agfpg] tl/sfnfO{ 

5f]6s/Ldf JofVof ug'{xf];\ (A) 

      How could a thin sheet of iron or a blade be made a 

magnet? Explain the method of making magnet in brief. 

16. oxfF lrqdf klx/f]u|:t If]qdf lgdf{0f ul/Psf] ;8s b]vfOPsf] 5 . o:tf] ;8s ofqf ubf{ x'g] 

hf]lvd / c;/nfO{ sd ug{sf nflu cjnDag ug{ ;lsg] b'O{cf]6f Jofjxfl/s pkfo  

n]Vg'xf];\ .  

    A road constructed in a landslide-prone area is shown in the given figure.  Write 

any two measures that can be adopted to minimize the risk and effects while 

travelling along such road.  
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v08 3 (Section -D)M nfdf] k|Zg -Long uestions)                $  $ = !^ 
tnsf 5f]6f] k|Zgsf] pQ/ n]Vg'xf];\ . (Write answer of the following long questions)        
17.  df]xDdbn] sIff ^ sf] k|yd q}dfl;s k/LIffdf ljleGg ljifodf k|fKt u/]sf] k|fKtfª\snfO{ tn 

tflnsfdf lbOPsf] 5 .  
Nepali English Mathematics Science Social Studies  Computer 
35 42 46 38 34 43 

 dflysf] k|fKtfª\snfO{ :k|]8l;6df e/]/ j0ff{g'j|mdcg';f/ s;/L ldnfP/ /fVg ;lsG5 < o;sf 
r/0fx¿ lj:t[t ¿kdf n]Vg'xf];\ .  

 The marks obtained by Mohammad in the first terminal examination of Grade -6 are 
given in the table below.  

Nepali English Mathematics Science Social Studies  Computer 
35 42 46 38 34 43 

 
 How can we fill these data in a spreadsheet and arrange them alphabetically? Write 
these stpes in details. 

18.  tnsf lrqdf kbfy{sf ljleGg cj:yfdf c0f'x¿sf] l:yltnfO{ b]vfPsf] 5 . lrqsf] cjnf]sg 
u/L tn lbOPsf k|Zgsf] pQ/ lbg'xf];\ . The arrangement of molecules in the different 
states of matter are shown in the figure given below. Study these diagrams and 
answer the following questions given below.  

 

i. A , B / C kbfy{sf s'g s'g cj:yfx¿ x'g\ < 
Name the state of matter of 'A', 'B' and  'C' 
 

ii. dfly lbPsf kbfy{sf tLgcf]6f cj:yfdWo] Wjlgsf] j]u ;aeGbf a9L / sd s'g s'g 
cj:yfdf x'G5 < tL cj:yfdf Wjlgsf] j]u ;aeGbf a9L / sd x'g'sf] sf/0f;lxt JofVof 
ug'{xf];\ .  
Name the state of matters in which the speed of sound is maximum and 
minimum. Explain with reason. 



lj1fg -sIff–^_  31 

19.  jg kfl/l:ylts k4ltsf] h}ljs cjojx¿nfO{ pbfx/0f;lxt j0f{g ug'{xf];\ . Describe the 
biotic factors of forest ecosystem with suitable examples.  

20. tnsf k|To]s ld>0fsf] :j¿ksf] Ps Pscf]6f pbfx/0f lbg'xf];\ . Give an example to each 
of the following forms of mixture. 

i. 7f]; / t/nsf] ld>0f Mixture of solid and liquid 
ii. 7f]; / 7f];sf] ld>0f Mixture of solid and solid  

iii. t/n / t/nsf] ld>0f Mixture of liquid and liquid 
iv. UofF; / t/nsf] ld>0f Mixture of gas and gas 

 

gd'gf k|Zgkq tnsf] Dofl6«S;sf cfwf/df ul/Psf] xf] . k|Zgkq lgdf{0f stfn] ljlzi6Ls/0f 
tflnsfsf cfwf/df o:t} Dofl6«S; tof/ u/L k|Zgkq tof/ ug'{kg]{ 5 .  

j|m=
;= 

PsfO sfo{   
306f 

1fg  
-@)%_

af]w -
#)%_ 

k|of]u  
-#)%_ 

pRr 
bIftf  
-@)%_ 

;d"xut 
ef/ 

PsfOut 
ef/ 

!= j}1flgs l;sfO !) ! a=j}= ! 5f]6f]   
!@ 

# 

@= ;"rgf tyf ;~rf/ k|ljlw #) 
! c=5f]= ! a=j}= 

! c=5f]= 
! nfdf] ! 5f]6f] 

( 

#= hLj / ltgLx¿sf] agf]6 !%  ! 5f]6f] ! 5f]6f] ! a=j}= 

!# 
% 

$= h}ljs ljljwtf / jftfj/0f !% ! a=j=} ! nfdf]   % 
%= hLjg k|lj|mof !) ! c=5f]= ! a=j}= ! a=j}=  # 

^= an / rfn !) 
  ! a=j}}=  

! c=5f]= 
! c=5f]= 

!& 

# 

&= b}lgs hLjgdf zlSt @) ! 5f]6f]   ! nfdf] ^ 
*= ljB't / r'Das !%  ! 5f]6f] ! 5f]6f] ! c=5f]= % 
(= k[YjL / cGtl/If !)  ! c=5f]= ! 5f]6f]  # 
!)= kbfy{ !% ! nfdf]  ! a=a}=   

* 
% 

!!= 
b}lgs hLjgdf k|of]u x'g] 
kbfy{x? 

!) 
 ! a=j}= ! c=5f]= ! a=j}= 

# 

 hDdf !^) !) !% %)  %)   

 



32  :jf:Yo, zf/Ll/s tyf l;h{gfTds snf -sIff–^_ 

ljlzi6Ls/0f tflnsf 
ljifo M :jf:Yo, zf/Ll/s tyf l;h{gfTds snf 

sIff ^-*           k"0ff{ª\s M %) 
k|Zg of]hgf tyf cª\sef/ ljt/0f 

j|m=
;= 

If]q÷PsfO ;du| 
kf7\o 
306f  

;}= 
kf7\o 
306f  

cª\s 
ef/ 

1fg af]w k|of]u pRr bIftf hDdf k|Zg ;+Vof hDdf cª\sef/ hDdf 
cª\s

c=
5f]= 

5f]= nf= c=
5f]=

5f]= nf= c=
5f]=

5f]= nf= c=
5f]=

5f]
= 

nf= clt 
5f]6f] 

5f]6f] nfdf] clt 
5f]6f] 

5f]6f] nfdf]  

!= dfgj z/L/  % $ $ $ !  @ ! !  ! !  ! ! ^ $ # ^ * !@ @^ 
@= ;fd'bflos :jf:Yo / 

dfgl;s :jf:Yo 
* & & 

#= kf]if0f / vfB ;'/Iff % $ $ 
$= /f]u, ;'/Iff / k|fylds 

pkrf/  
* & & 

%= of}lgs tyf k|hgg\ 
:jf:Yo  

^ $ $  

^ zf/Ll/s Jofofd / 
sjfh 

^ @ 
@  

@    ! !  !   !  @ # ! @ ^ $ !@ 
& Pyn]l6S; / ;fxl;s 

lj|mofsnfkx¿ 
^ @ 

@ 

*= v]nx¿  !$ % ^ 
( of]u  ^ @ @   
!) snfsf] kl/ro, 

/]vflrq / /ª 
 !) $ 

$ 

@    !   ! !  !  @ # ! @ ^ $ !@ 
!! 5kfO, df6fsf] sfd, 

sf]nfh / lgdf{0f 
^ @ 

@ 

!@ ufog / jfbg  !) # $ 
!# g[To / clego ^ @ @ 
hDdf (^ $* %) * ! @ # @ # @ # ! !) !) % !) @) @) %) 

gf]6 M  
 k|Zg lgdf{0f ubf{ lgDg txsf k|Zg -1fg, af]w / k|of]u_ tyf pRr txsf k|Zg -ljZn]if0f, d"Nofª\sg / l;h{gf_ ;a} txsf k|Zgx/¿ / ;a} PsfOsf] kf7o306fnfO{ Wofgdf /fv]/ k|Zg 

agfpg'kg]{ 5 .  
 clt 5f]6f] k|Zg ! cª\s, 5f]6f] k|Zg @ cª\s / nfdf] k|Zg $ cª\ssf b/n] ;f]Wg'kg]{ 5 . 
 :jf:Yosf\ v08df cª\sef/df @^  36a9 gx'g] u/L o; v08leqsf PsfOx¿df ±– @ x'g ;Sg] u/L k|Zg agfpg ;lsg] 5 . 
 Zff/Ll/s v08df hDdf cª\sef/ !@ 36a9 gx'g] u/L o; v08leqsf PsfOx¿df ±– @ x'g ;Sg] u/L k|Zg agfpg ;lsg] 5 . 
 l;h{gfTds snfsf] v08df hDdf csef/ !@ 36a9 gx'g] u/L o; v08leqsf PsfOx¿df ±– @ x'g ;Sg] u/L k|Zg agfpg ;lsg] 5 . 
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gd'gf k|Zg M sIff ^ 

ljifo M :jf:Yo, zf/Ll/s tyf l;h{gfTds snf 

(Subject: Health, Physical and Creative Arts) 
k"0ff{ª\s M %)                                              ;do M @ 3G6f  

tnsf ;a} k|Zgsf] pQ/ n]Vg'xf];\ . (Attempt all the following questions) 

;d"x -s_ clt 5f]6f k|Zg (Very short questions)         !)  ! = !) 

!= 5fnfnfO{ lsg 1fg]lGb|o elgG5 < s'g} Pp6f sf/0f n]Vg'xf];\ .  

   (Why is the skin called sense organ? Write a reason) 

@ cl:yk~h/ k|0ffnLsf] s'g} Ps sfo{ n]Vg'xf];\ .  

    (Write any one function of skeleton system.) 

# c:ktfnn] k|bfg ug]{ cGt/ª\u ;]jf eg]sf] s] xf] <  

   (What is indoor service provided by hospital?) 

$= z/L/ lgdf{0f ug{] s'g} b'O{ vfgfsf] ;|f]t pNn]v ug'{xf];\ .  

    (Mention any two sources of body building food.) 

%= hªs km'8\; lsg vfg' x'Fb}g < s'g} Pp6f sf/0f pNn]v ug'{xf];\ .  

    (Why junk food should not be eaten? Give a reason) 

^= lszf]/fj:yfdf b]lvg]  s'g} Ps dfgl;s kl/jt{g n]Vg'xf];\ .  

    (Write any one mental change observed during adolescence.) 

&= elnan v]nsf] ;'?cft s]af6 ul/G5 <  
   (From what does the volleyball game start?  

*=af:s]6an v]nsf] s'g} Ps cfwf/e"t l;k n]Vg'xf];\ .  

   (Write any one basic skill of basketball game.) 

(=s'g} b'O{cf]6f låtLo /ªx¿sf] gfd n]Vg'xf];\ .  

   (Write any two secondary colours.) 

!)=;ª\uLt eg]sf] s] xf] < .  

   (What is music?) 
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;d"x -v_ 5f]6f k|Zg (Short questions)                              !)  @ Ö @) 
!!= cl:yk~h/ / df+zk]zL k|0ffnL s;/L Pscfk;df cGt/;DalGwt 5g\ < s'g} b'O{ cGt/;DaGw 

k|:t't ug'{xf];\ .  
(How do skeleton and muscular systems are interrelated? Mention any two 
interrelationships.) 

!@= dfgl;s :jf:Yosf] s'g} b'O{ dxŒj n]Vg'xf];\ .  

     (Write down any two importance of mental health.) 

!#= :yfgLo :t/df pTkfbg x'g] vfg]s'/fx¿af6 ;Gt'lnt ef]hg agfpg ;lsG5 . s;/L < s'g} 
b'O{ tl/sf n]Vg'xf]; .  

    (Balanced diet can be prepared from locally productive and available foods. How? 
Write any two ways.) 

!$= lszf]/fj:yfdf w"dkfg, dBkfg tyf nfu'kbfy{sf] ;]jg ubf{ ljleGg ;d:ofx¿ b]vfk5{g\ . 
o;af6 aRg tkfO{Fn] s:tf pkfox¿ ckgfpg' x'G5 < s'g} b'O{ Jofjxfl/s pkfox¿ pNn]Vf 
ug'{xf];\ .  

      (During adolescence, smoking, alcoholism and abuse are seen as problems.  
Mention any two practical measures that you can adopt to escape from it.) 

!%= sDd/sf] Jofofdaf6 afnaflnsfx¿sf] df+zk]zLsf] tGb'?:tL a9fpg ;lsG5, s;/L < o;sf 

s'g} b'O{ pkfox¿ pNn]v ug'{xf]; .  

    (Muscle fitness of children could be developed through waist training. How? 

Mention any two ways of it.)  

!^= kbofqf ubf{ Wofg lbg'kg{] s'g} b'O{ kIfx¿ n]Vg'xf];\ .   

    (Identify any two aspects to be considered while trekking.) 

!&=æ:j:Yo /xgsf nflu of]uf;g h?/L dflgG5 .Æ o; egfOnfO{ s'g} b'O{ ts{x¿;lxt k'li6 

ug'{xf];\ .   
("Yoga is considered an essential for good health." Justify this statement any two 

logics.) 

!*=j:t'sf] 5kfO ug{ ;lsg] s'g} b'O{ ;/n tl/sfx¿ n]Vg'xf];\ .  .  
(Write any two simple ways to print of any objects.) 
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!(=tkfO{FnfO{ dg kg]{ s'g} uLtsf] b'O{ x/km n]Vg'xf];\ .  
(Write two lines of any song which you like most) 

@) =æg[Ton] z/L/nfO{ :j:y / :km"lt{ agfpF5 .Æ  . b'O{ ts{;lxt k|i6\ofpg'xf];\ .  
("Dance makes the body healthy and smart". Clarify with two logics.) 

 

;d"x -u_ nfdf] k|Zg (Long questions)                                 %  $ Ö @) 

@!=tkfO{sf] ljBfno jf 3/ glhs} /x]sf] kfgLsf] ;|f]t k|b"lift x'gfsf] d'Vo sf/0f klxrfg ug'{xf]; 

/ ;d:of ;dfwfgsf]  tLgcf]6f Jofjxfl/s pkfox¿ k|:t't ug'{xf];\ .  

     (Identify the main cause of pollution of water source present nearby your school or 

home and present any three practical measures to overcome from it.)  

@@= k|b"lift vfgf / kfgLsf dfWodaf6 /f]ux¿ ;g]{ s'g} rf/cf]6f tl/sf n]Vg'xf];\ .  (Write any 

four mode of transmission of food and water borne diseases.) 

@#=s's'/n] 6f]s]sf] dflg;nfO{ tkfO{n] s;/L k|fyflds pkrf/ ug{'x'G5 < s'g} rf/cf]6f k|fyflds 

pkrf/ n]Vg'xf];\ .      

    (How do you provide first aid to the victim of dog bite? Write any four first aids.)   

@$= sa8\8L v]ndf /]8/n] ljkIfaf6 aRgsf nflu Wofg lbg'kg]{ s'g} rf/cf]6f kIfx? klxrfg 

ug'{xf];\ .  

(Identify any four aspects that the raider should pay attention in order to avoid 

opposition in the game of Kabaddi.) 

@%= j|m; Xoflrª ljlwaf6 s'g} b'O{ j:t'sf] 5fof kf/]/ b]vfpg'xf];\ .  

(Show the shadow of any two objects by cross hatching method.) 
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tn lbOPsf k|Zg lgdf{0f ug]{ r]sln:6 gd'gfsf nflu x'g\ . lu|8cg';f/sf] ;a} tx / k|sf/sf 
k|Zg ;d]6\g] u/L o:tf cGo r]sln:6 agfO{ k|Zg lgdf{0f ug{ ;lsG5 . 

Question construction check list-1 
S.N. Unit Marks K U A HA Total 

Marks 
!= dfgj z/L/ $ 1VS 1VS 

1 S 
  26 

@= ;fd'bflos :jf:Yo / dfgl;s :jf:Yo 
& IVS 

1S 
  L 

#= kf]if0f / vfB ;'/Iff $ IVS 1VS S  
$= /f]u, ;'/Iff / k|fylds pkrf/  &  L L  
%= of}lgs tyf k|hgg\ :jf:Yo  $ 1VS       S 
^ zf/Ll/s Jofofd / sjfh @   S  12 
& Pyn]l6S; / ;fxl;s lj|mofsnfkx¿ @  S   
*= v]nx¿ ^ 2VS L   
( of]u  @    S 
!) snfsf] kl/ro, /]vflrq / /ª $   L  12 
!! 5kfO, df6fsf] sfd, sf]nfh / lgdf{0f @ 2VS    
!@ ufog / jfbg $  S S  
!# g[To / clego @    S 
  %) 10 16 14 10 50 
 

Question construction check list-2 
S.N. Unit Marks K U A HA Total 

Marks 
!= dfgj z/L/ $ S 2VS   26 
@= ;fd'bflos :jf:Yo / dfgl;s :jf:Yo & VS   S L 
#= kf]if0f / vfB ;'/Iff $ VS VS  S 
$= /f]u, ;'/Iff / k|fylds pkrf/  & VS S L  
%= of}lgs tyf k|hgg\ :jf:Yo  $  L       
^ zf/Ll/s Jofofd / sjfh @  S   12 
& Pyn]l6S; / ;fxl;s lj|mofsnfkx¿ @   S  
*= v]nx¿ ^ S L   
( of]u  @    S 
!) snfsf] kl/ro, /]vflrq / /ª $   L  12 
!! 5kfO, df6fsf] sfd, sf]nfh / lgdf{0f @ VS VS   
!@ ufog / jfbg $ 2VS   S 
!# g[To / clego @   S  
  %) 10 16 14 10 50 
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ljlzli6s/0f tflnsf 
sIff *           k"0ff{+ª\s M %)    ;doM @ 306f 

ljifoM ;fdflhs cWoog tyf dfgj d"No lzIff                                                             

k|Zgsf] lsl;d k|Zg ;ª\Vof hDdf cª\s ef/ 
Nffdf] pQ/ cfpg] k|Zg $ $ X % Ö @) 
5f]6f] pQ/ cfpg] k|Zg & & X # Ö @! 
w]/} 5f]6f] pQ/ cfpg] k|Zg ( ( X ! Ö ( 

hDdf @) %) 
b|i6JoM pRr bIftfdf ljZn]if0f, ;dfnf]rgfTds lrGtg, d"No / clej[lt;Fu ;DjlGwt k|Zgx¿ ;f]Wg' kg]{ 5 . 

PsfO 
  

clt 5f]6f] 5f]6f] nfdf] 

1fg / 
af]w 

kof]u / 
l;h{gfTds l;k 

pRr 
bIftf 

1fg / 
jf]w 

kof]u / 
l;h{gfTds l;k 

pRr 
bIftf 

1fg / 
af]w 

k|of]u / 
l;h{gfTds l;k

pRr 
bIftf 

!= xfdL / xfd|f] ;dfh !-!_     !-#_         
@= xfd|f] dfgj d"NodfGotf  !-!_ !-!_       !-#_     
#= gful/s r]tgf !-!_            !-%_ 
$= ;fdflhs ;d:of , ljs[lt / ;dfwfg     !-!_ !-!_ !-#_           
%= xfd|f] ljut       !-#_      !-%_   
^= xfd|f cfly{s lj|mofsnfk !-!_ !-!_         !-%_   
&= xfd|f] k[YjL    !-#_      !-%_ 
*= hg;ª\Vof / o;sf] Joj:yfkg      !-#_       
(= xfd|f] cGt/f{li6«o ;DaGw / ;xof]u  !-!_   !-#_          
hDdf $ # @ # @ @ @ ! ! 
  ( X!Ö( & X #Ö@! $ X %Ö@) 
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sIff ^ 

ljifo ;fdflhs cWoog tyf dfgj d"No lzIff 

;d'x -s_  

clt 5f]6f] pQ/ cfpg] k|Zgx¿ 

!=  tLgcf]6f dlxnf j8f cWoIfx¿ ePsf] ufpF sfo{kflnsfdf slt hgf dlxnf ;b:ox¿  
x'G5g\ <  

@=  cfTdcg'zf;g eg]sf] j]m xf] < Ps jfSodf n]Vg'xf];\ .  

#=  rf8kj{x¿ dgfpg'sf j'mg} b'O{cf]6f kmfObfx¿ pNn]v ug{'xf];\ .  

$  g]kfnsf] ;+ljwfgn] Joj:yf u/]sf df}lns xssf] ;ª\Vof n]vL  wf/f !^ df Joj:yf ul/Psf] 
df}lns xs n]Vg'xf];\ . 

%=  tkfO{F la/fdL x'Fbf tkfO{Fsf cleefjsn] wfdL emfFj|mL af]nfP/ Nofpg'eof] . To; j]]nf cfkm\gf 
cleefjsnfO{ s] eGg'x'G5 < 

^=  3/]n' lxF;f aGb ug{ s] ug'{knf{ < Ps pkfo n]Vg'xf];\ .  

&=  e"ldsf] s'g} Ps dxŒj pNn]v ug'{xf];\ . 

*=  hn ;|f]tsf] pkof]u s;/L ug{ ;lsG5 < Ps jfSodf n]Vg'xf];\ .  

(= OG6/g]6sf] k|of]uaf6 s] kmfObf lng ;lsG5 < b'O{cf]6f kmfObf n]Vg'xf];\ . 

 

;d'x v  

5f]6f] pQ/ cfpg] k|Zgx¿                              &X#Ö@! 

!)  tkfO{Fsf] :yfgLo If]qsf] jftfj/0f ;+/If0f ug{ tkfOF{ s] s:tf ls|ofsnfkdf ;+nUg x'g'ePsf] 
5 < tLg a'Fbfdf n]Vg'xf];\ .  

!!  tkfOF{ 3/df PSn} ePsf j]nf ckl/lrt JolSt cfpg'eof] eg]] pxfF;Fu s] s:tf Jojxf/ 
ug'{x'G5, n]Vg'xf];\ . 

!@=  ljjfb eg]sf] s] xf] < sIffsf]7fdf x'g] ljjfb ;dfwfgsf s'g} b'O{ pkfox¿ n]vL ;+If]kdf 
rrf{ ug'{xf]; . 

!#=  /f0ff zf;gsfndf ePsf s'g} tLg ;fdflhs pknlAw pNn]v ug'{xf];\  .  

!$=  cIff+z / b]zfGt/larsf tLg leGgtf n]Vg'xf];\ .  

!%= cJol:yt / c;dfg hg;ª\Vof ljt/0fsf] plrt Joj:yfkgsf nflu  tkfO{F s:tf ;'´fj 
lbg'x'G5 < a'Fbfut ¿kdf n]Vg'xf];\ . 

!^= sf]/f]gf efO/;sf]] k|sf]kaf6 ;'/lIft x'gsf nflu tkfO{Fn] s] s] ;fjwfgLx¿ ckgfpg'x'G5 < 
s'g} tLg pkfox¿ n]Vg'xf];\ . 
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;d"x …uÚ  

nfdf] pQ/fTds k|Zgx¿                                          $X%Ö@) 

!&= æJolStn] cfkm\gf] st{Jo kfngf ugf{n] c;n gful/s aGg ;xof]u k'U5Æ .  o; egfOnfO{ 
pbfx/0f;lxt k'li6 ug{'xf];\ . 

!*= g]kfnsf] PsLs/0fdf /fh]Gb|nIdLsf] of]ubfgsf] rrf{ ug{'xf];\ .  

!(= ko{6g eg]sf] s] xf] < g]kfndf ko{6gsf] dxŒj ;DaGwdf ;ª\lIfKtdf rrf{ ug'{xf];\ .           
!±$   

@)= tkfO{F a;f]af; /x]sf] :yfgLo txsf] /]vfª\lst gS;f agfpg'xf];\ / To;df pko'St 
;ª\s]t;lxt :yfgLo txsf] s]Gb|, Ps wfld{s :yn / cfˆgf] ljBfno b]vfpg'xf];\ .           
@±# 
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